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The graph shows the amount of money
(m') Lana pays for an order of plain t-
shirts (¢) to screen print.

m
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How much does 1 plain t-shirt cost?
A $5
B. $6
C. $10

D. $12
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A water tank is draining at a constant
rate. A graph modeling the volume of the
tank vin cubic meters as a function of the
time ¢ in seconds that the tank has been
draining is shown.
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At what rate is the tank draining?
A. 5 7 per second
B. 17 7 per second
C. 34 17 per second

D. 85 n7 per second
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The graph shows the amount of money
m Shauna is paid for working /2 hours.
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What is Shauna's hourly pay rate?
A. $8 per hour

B. $10 per hour

C. $12 per hour

D. $16 per hour
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What is the slope of the line through the
points (-4,-2) and (-1,-7)?

A S
3
B _3
S
cs
3
D.

Alw




image10.png
Your fitness trainer asked you to keep a
record of your activity on the stationary bike.
The results are shown in the table. The
equation of the line of best fit for the data is
y =24x +3.

Number of | Number of
Miles Minutes
7 20
9 23
10 27
12 33
15 40
18 45

What does the number 2.4 represent?

A. the number of minutes for every mile on
the bike

B. the number of miles on the bike for every
minute

C. the overall increase in miles

D the overall increase in minutes
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The equation y = 234.7x + 3900 represents
the value of a classic car from 2003 to 2009.

If x represents the years since 2003, what
does the number 3900 represent?

yearly increase in value

A

B. yearly decrease in value
C. value of the car in 2009
D

value of the car in 2003
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What is the slope of the line -2x + Sy = 107
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B. -
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Maria earns $10 per hour babysitting.
Which graph models her total earnings y
from x hours of babysitting?

A

>

o B¥8sLIIBE

T23456780910

o 53838823
N*
1

T23456789 10

o BBEELTIBE,

B

T2345678010

tgavz8

B

30|
2|
10

0132 3456789 10




image14.png
How fast is a truck traveling it it Is able to
travel 660 miles in 12 hours?

A. 65 mph
B. 60 mph
C. 50 mph

D. 55 mph
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What is the slope of a line containing the
points (-2, 7) and (3, -8)?

A1

3

wlr

W




image16.png
What is the slope-intercept form of
3x+9y=27?

A y=3x-3
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What is true about this graph?

s 1012y

A. The slope is negative.
B. The slope is positive.
C. The y-intercept is 5.

D. The x-intercept is 6.
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Linear functions are written in the Dox.

Which statement is true about the 2
functions?

A.

The graph of y = gx — 4 is steeper and
intersects the x-axis at -4.

The graph of y = %x -4 is steeper and
intersects the y-axis at -4.

The graph of y = 3x + 2 is steeper and
intersects the x-axis at 2.

The graph of y = 3x + 2 is steeper and
intersects the y~axis at 2.
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What is the slope of the line?
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What is the slope of the line?

!
—
4 [
2
ERREE 2

(Y

A. undefined

B. 0

C.5S




image21.png
What is the slope of the line?
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What is the slope of the line?
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Examine the relation.

{(-2,-2), (-2, 4), (-1, 1), (1, 0), (1, 1),
(3,3), 3, -2)}

Is the relation a function, and what is the
range?

A. function; range {-2, -1, 1, 3}
B. function; range {-2, 0, 1, 3, 4}
C. not a function; range {-2, -1, 1, 3}

D. not a function; range {-2, 0, 1, 3, 4}
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Which graph illustrates a function?
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Which relation represents a function?
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Which equation describes the function
represented by the table?

x [y
-2 9
-1 2
2 -19
3 -26

A y=x-(11)

B. y=4x+6

C. y=-7x-5
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Which represents a function?

| [ wol o3¢
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Both 1 and 4

A.

B. Both 1and 2
C. Only 1

D. Only 3
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A linear function is graphed below.

What is £(2)?
A -4
B. -1
C. 1

D. 5
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An absolute function is graphed in the
coordinate grid.

Which statement is true?

A. The value of the function is 0 when x =
2.

B. The value of the function is -4 when x =
2.

C. The value of the function is -3 or -1
when x = 1.

D. The value of the function is 2 when x=
4orx=0.
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A function is graphed in the coordinate
grid.

What is £(2) of the graphed function?
A -4

B. -1
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A function iIs graphed in the coordinate
grid.

What is £(-1) for the graphed function?
A -4
B. -3
C.0

D 2
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A function Is graphed in the coordinate
grid.

What is the value of x when the value of
the function is (x) = -4?

A -3
B. 0
C.1

D 5




image33.png
A linear function is graphed in the
coordinate grid.

What is the value of 7(4)?
A -6

B. -1
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A function, 7(x) , is graphed on the
coordinate grid.

For which value of x is the function value
4?2




image35.png
Kristy works at a toy store. Her base pay
is $1000 a month. She also receives a
commission of 2% of her total sales. The
linear model representing her pay (p) in
terms of her sales (s) is shown.

p =.02s + 1000

Using this model, what is Kristy's monthly
pay for sales totaling $25,000?

A. $1,200,000
B. $5,100
C. $1,500

D. $500
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The function 7(x ) = 7x + 15 models the
time in minutes that a customer will wait
to get an oil change if there are x cars in
line ahead of the customer. How long will
a customer wait if they are the fifth car in
the line?

A. 28 minutes
B. 35 minutes
C. 43 minutes

D. 50 minutes




image37.png
The degree measure of each internal
angle of a regular polygon follows a
mathematical rule which depends on the
number of sides.
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What is the rule for a polygon with 7
sides?

A. 90(h - 2)
2n
B. n

180(n - 2)

C. 180(n - 2)
n

D. 180 - n




image38.png
The graph shows how many pages (p)
Erin has left to read in her book after ()
minutes of reading.
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How many pages were in the book when
Erin started reading?

A. 140 pages
B. 150 pages
C. 230 pages

D. 240 pages
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The cost of a class field trip is $15 per
person, plus $50 for a bus ride. Which
function can be used to find the total cost
C (x) of a field trip for x students?

A. C(x)=50x+15
B. C(x) = 15x + 50
C. C(x)=50x - 15

D. C(x) = 15x - 50




image40.png
A rectangle with a length of 12 and a width
of 7 is similar to a rectangle with a length of
9. What is the width of the second
rectangle?

A. 4
B. 5.25
C.9.3

D 154
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A taxi charges a base fee of $3.00 and $.15
for every mile of the ride. What would be
the cost of a 3.4 mile ride?

A. $0.51
B. $3.51
C. $10.20

D. $10.35




image42.png
A travel agency is advertising a vacation
package that includes $250 for airfare,
plus $40 a day for a hotel. The agency
also offers the option of eating breakfast
and lunch at the hotel for $10 a day for
the length of the hotel stay. Which
function can be used to find the total cost
V(a) of staying d'days and using the
optional meal plan?

A. V(d) = 40d + 260
B. V() = 50d+ 250
C. V(d) = 2500+ 50

D. V(d) = 260d + 40
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A tutoring agency charges $20 for study
materials, plus $40 an hour for tutoring.
Which function can be used to find the
total cost 7 (/) of A hours of tutoring?

A T(h) = 40(h + 20)
B. 7(h) = 20(h + 40)
C. T(h) = 40+ 20

D. 7(h) = 20h+ 40
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The cost of renting a bowling alley for a
party is $110, plus $5 a person for food.
Which function can be used to find the
total cost C(x) of a party at a bowling
alley for x friends?

A. C(x) = 5x+ 110
B. C(x) =110x+5
C. C(x) = 5x-110

D. C(x) =110x-5
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The cost of renting a moving van is $25 a
day, plus $0.35 per mile driven. Which
function can be used to find the total cost
C(x) in dollars of renting a van for a day
and driving x miles?

A C(x)=25x-0.35
B. C(x) = 25x+0.35
C. C(x)=035x - 25

D. C(x) =

.35x + 25
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Leslie used her new snowflake-counting
machine to record how quickly the snow
was falling during a recent storm. The
snow fell at four distinct rates creating
periods 4, B, C and D as shown in the
diagram.

Number of Snowfakes Faling

Tme

A/ B.CID

During which period did the snow fall at a
rate that can be approximated by a linear
function with a negative slope?

A A
B. B
C.C

D D
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It m varies directly with 7, and /m = 8
when 7= 24. What is the value of
when m = 12?

A. 36
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The cost of a phone Dill varies airectly
with the amount of minutes talked. It
costs $80 to talk for 50 minutes. How
much does it cost to talk 120 minutes?

A. $192
B. $185
C. $180

D. $75
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The table shows a relationship between
x and y values.

Input (x) | Output(y)

of~| of ] 5|
N

Which equation best describes the rule for
the x and y values in the table?

A y=4x-3
B. y=3x-4
C.y=4x+3

D.y=3x+4




image49.png
in a linear function, y varies directly
with x, and the constant of variation
1

is =. What is the value of y when
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image50.png
The cost (C) to fill up a tank in a car varies
directly with the number of gallons
purchased (g). If gas costs $2.75 per
gallon, which equation models the
relationship between c and g?

Ac =g +275
B.c =275-¢g

C. ¢ =2.75g
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The sum of x and y numbers is 38. One
number, x, is 22 less than y. What is the
product of xand y?

A 38
B. 64
C. 240

D. 900
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Which equation models the situation in
which y varies directly with x and x =12
wheny = 4?

D.y=8x
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The cost of a cell phone varies directly
with the number of minutes it is used. If it
costs $52.36 to talk for 175 minutes, what
is the cost to talk for 325 minutes?

A. $28.19
B. $54.17
C. $97.24

D. $1,086.23
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In the table, y varies directly with x.

X[ 7] 04
[y[1al1s [8

What is the constant of variation?

A -2
B._1
2
c. 1
2
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Suppose y varies directly with x. If x is
40 when y is 5, what is x when y is 20?

A. x =160
B. x =100
C. x =360

D. x =200
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Leslie used her new snowflake-counting
machine to record how quickly the snow
was falling during a recent storm. The
snow fell at 4 distinct rates creating
periods 4, B, C and D as shown in the
diagram.

Number of Snowfiakes Faking

[Time

A/ B.C/D

During which period did the snow fall at a
rate that can be approximated by a linear
function with a slope near 0?

A A
B. B
C.C

D D
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Which point is a solution to the inequality
y >-5x +3?

A (0,3)
B. (1, 0)
C. (3,1)

D. (-1, -2)
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A prom ticket at Smith High School is
$120. Tom is going to save money for the
ticket by walking his neighbor's dog for
$15 per week and by babysitting his little
brother for $22 a week. Which equation
can be used to find the minimum number
of weeks Tom must walk the dog (x) and
babysit his little brother (y) to earn
enough to pay for the prom ticket?

A. 15x + 22y 2120
B. 15x -22y <120
C. 15x 2120 + 22y

D. 15x — 22y <120
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Miranda cuts grass (g ) for $20 and hour
and trims hedges (/) for $25 an hour.
She is trying to make enough money
during the summer to buy a car for
$4200. Which inequality represents the
number of hours Miranda needs to cut
grass and trim hedges?

A. 25g +20h = 4200
B. 25g + 20h< 4200
C. 20g + 25h <4200

D. 20g + 25h = 4200
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Which choice matches the equation of a line
with a jintercept of 6 and an x-intercept
of 62

Ay =-6x
B. 6y =-6x
C.y=-x+6
D.y=x-6
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Every weekend Greg mows and rakes lawns
to earn extra money. He makes $45 for every
lawn he mows and an extra $15 for raking.
His goal is to earn at /east $250 per week.

If m represents mowing, and n represents
raking, which inequality models Greg’s
situation?

A. 45m + 15n < 250
B. 45m + 15n > 250
C. 15m + 45n > 250
D 157+ 4510 < 250
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The graph of an inquality is shown.

Which ordered pair is a solution set for
the linear inequality shown in this graph?

)
B (3, 1)
C. (0,0)

D. (4, 2)
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Which ordered pair lies on the line
-2x+ 4y = -20?

A. (10, 0)
B. (0, 10)
C. (-5,5)
D. (5, -5)




image63.png
Where does the graph of y = -2x + 1
intersect the x-axis?
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An equation is graphed on the coordinate
plane.
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Which equation matches the graph?
A y=2x-1
B.y= %x +1

Coy=2ix+1
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What is the slope of the graph of the line,
Sx-7y=-30?
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Kelly charges a flat fee of $6 for her
babysitting service plus an hourly charge
of $8.20. The graph shows Kelly's
earnings from babysitting.

~Eamings(s)

Timethe)
T T TR O A A A A

On the graph, what does the y -intercept
represent?

A. number of hours of babysitting
B. flat fee for babysitting
C. hourly rate for babysitting

D. total charges of babysitting
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The graph of the line y = 3 is a line that
has which of the following characteristics?

A. parallel to the y -axis
B. passing through the point (5,0)
C. parallel to the x -axis

D. passing through the origin
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Which equation represents a direct
variation?

Ay-4x =8
B.y +2=7x
C.y-3x=0

D.y =5x -2
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The voltage (V') across a circuit element
varies directly with the current (7). When
the voltage is 12V, the current is 64. What
is the value of the current when the
voltage is 14/ ?

A. 67A
B. 74
C. 284

D 724
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Which equation is written in point-siope
form?

A 7x=3y=22
B. y=-2x-5
C. 6x=2y+18

D. y—1=-4(x+9)




image4.png
The graph is a model of Raheem's
distance d from home, in miles, and time
t spent traveling, in hours.

How long does it take Raheem to get
home?

A. 4 hours
B. 5 hours
C. 8 hours

D. 20 hours
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The graph is a model of Raheem's
distance d from home, in miles, and time
t spent traveling, in hours.

How far from home was Raheem at the
start of his trip?

A. 8 miles
B. 50 miles
C. 200 miles

D. 400 miles




